A Guide to Microsoft® Excel for Scientists and Engineers

by Bernard V Liengme
Errata for 3rd Edition

If you find other errors, please let me know (bliengme@stfx.ca) and I will update the list.

Some of the misprints below have been correct in the more recent printings of the book.

	Where
	Error
	Correction

	Page xii
	The Note giving the URL for the companion website is incorrect
	Website: www.bh.com/campanions/0750656131

	Page 33 (c)

 last paragraph
	In summary, … to read =($B$4*B$8)/(A$9-$E$4) 

The $ in A$9 is incorrectly placed
	In summary, … to read =($B$4*B$8)/($A9-$E$4)

	Page 34 (e)

third sentence
	Move the insertion point in front of the $ in B4...
	Move the insertion point in front of the 4 in B4 …

	Page 41 (a)
	Clearly, in A3 we need to type 2 1/2 

	Page 41  above Figure 2.19
	The formula used in C2 should be =Density*Volume

	Page 88 (b)
	The formulas in C2 and D2 are each missing a parenthesis to complete the AND function.
	C2: = IF(AND(A2>=5,A2<10),1,0)

D2: = IF(AND(A2>=5,A2<10),A2^2,0)

	Page 90 Problem 2
	…using IF three times.
	…using IF four times.

	Page 90 Problem 3
	…using AND twice.
	…using AND.  (delete twice)

	Page 91 Problem 6
	Cells D8:D9 evaluate ax2+bx+c using the x values in B8:B9, respectively

	Page 118 Problem 4

First para. last line
	The formulas in A12, A14 and A16… 
	The formulas in A12, A15, A16 and A18…

	Page 120 end of the

first paragraph
	The intercept is not C but ln(C)
	… and an intercept of ln(C).

	Page 169 Q2
	VBA requires double quotes around text.
	…and changed the references to Temp(1,1) = “No real”, Temp(1,2) = “roots”, etc.

	Page 188 Q3
	The conditions when q(n)… are wrong; the references should be to q(n-1)
	d(n) = d(n-1) – 1 when q(n-1) >= 0

       = d(n-1) + 1 when q(n-1) < 0

	Page 230  near the top
	The comment for line 3 shows Integer = 0.0. This is a typographical error.
	Type this as Integral = 0.0 to tell VBA …

	Page 232 Improper Integrals
	There is a typographic error in the first example of a transformation. A t term is missing in the result.
	Thus, the substitution of x = t2 transforms 
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	Page 234 Table
	The line between the n = 5 and n = 6 values is one row too high.
	The last value for n = 5 is 0.906… and the first value for n = 6 is 0.238… 

	Page 278 (d)
	The range for the FREQUENCY function is incorrectly given as D5:D16.
	(d) With D5:D17 selected….

	Page 280 (b) note for cell D7
	The value of  is 1 – 95% or 0.05 not 0.5 as mistakenly shown. 
	(for  = 0.05, f = 6)
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